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Let 8 and & be two acute anales of & right angled trianale,
difference of acute angles

& -t = 25—’? radians
i aright angled triangle,
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Let 8 and & and & be the angle or tnangie.
8y = gx gradiants
gy = gx degress and
fy = %x radians

Now,
wae have to express all the angles in degrees

[u}
3 =lu]
-91 - [—J{'H_]

2 1040
- gh’ 19 = 5:-:-]5 dagraa]
8y = gxn

gy angleslam property,
By + 6o +8y = 180°

et 3594 12% _ pee
5 2 g

= E){n - 19!]0
2

= X = 4|.'.i':'

8] L] o
. g =24" 8,=60" 6,=96


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ mm Wondershare

PDFelement

Remove Watermark g

Q5

General formula for intarior angles of polygaon with n sida
J [En— 4] ot
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Lat the angles in degrees he a-3d, -4, a+d, 2+ 3d

Than,
sum of the angles = 360"
= 4a = 360°
a=290"
Alsa,
greatest angle = 120°
a+3d =120°
= a0? + 3¢ = 120°

= 34 = 30°
= o= 10"

Hence, anglesin degrees
60%, 80°, 1009, 120°
and in radians, we know that
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180 9 180 3
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Let 4,8 & C be the angles of friangle 48C.
We are given that 4,8 & C Zrein A.P.

letd=a-d, B=gand C=a+d

Acoording to the guestion,

A+8+C=180° [Eln,-' angle sum prupsrtj,r]
a-d+a+a+d=180°
>  32=180"= a=60" —{iy
Again,
least angle 1
mean angle 120"
s EEd
El 120
= 1193 = 1204
B R
120
= ¢« 118 g0
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i
2
119 = 119 +
.- —— i —— radians
2 180 360
Mow,

1" = radians

E=a=#60"= % radians

11’35. - vadisne
360 360

119 229
C=g+d="24 =
3 360 360

Amg-gduZ.
3

radians.
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Let & rm be the number of sides in two regular polygon respactively,

(2n-4)

We know that each angle of n-sided reqular polygon is right angles.

Now,
Accarding to the guestion,

[E"_4]xgu°

"

2m-4
e

(2n - 4)m 3

G4 2

3
-
T

~()

n=2m —{ii) [given]
Put(iljmm , wia get

(4m=-d)m 3
(em-4)2m 2

= 4rm-4=6m-12
Lo 2m =B
m=4
From [ii]
f1=2m
=dx4=38

Coh=8 m=4
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According to the guestion,
ABEC arein AP

letdA=5-0d, B=53 & C=5+d

So, A+ 8+C =180" [By anale sum property ]
— a-d+a+a+d=180"
= 32=180° = 3 =607 —=[1)
alsa,
greatest angle in 5 times the least
ﬂ-l-'l:'. = EEE—G"]
= da = 64
= = E-a
K |
2 o
=  d=Sxe0=40 =)
A=a-d=20"

B=a =60°
Cwa+dw=ion?

Thus,
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Letr and m be the numbear of sides in two regular polygon
respectively.

We know that each angle of n-sided regular polygon is

[En — 4J right angles.
n
Mo,
According to the guestion
n_s_5sm__ —(i)
Mmoo+ 4+
Also,
[Eﬂ'- 4] gﬂﬂ _[Em- 4]gnn 2 gn
n m
2n-4m-(2m-4n " .
L (n-em-(2m-4n H — (i)
on 10

From (i) and (ii), we get

g 5
2x=m-4[m=-{2m-41=m
[ i ] { )3

X
5,2 10
4
- (L0m-16) - (10m-20) 1
&m 10
4 1
= —===m=8
m 2
From (i)
b= = v =10
e
Thus,
n=10, m=4


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ P

PDFelement

Remove Watermark g

Q11

Let 48 be the rail road

T EWC T
mos=25”=25x_=_1 119 = _I:
120 36 180
We know that
o arc
radius
AE
; LAOE = —
= oA
Ewr 40
= —
26 r
40 = 36
= =
S
= r=ﬂmeter -~w=%‘
T 7
r=91.64 meter
Q12
Let, <ZLAQ0E=9=1"
HAE =arc A8 =
OA=08=r =5280m
1% =g0"
i R P #5F
SRSCRCE o+ (39)]
G 60 180 120
Mow,
We know that
_arc
" radius

E > {
= =
130 =60 5280

- 52807 . c9esm Pk
180 = a0
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Q13

Since 4 whesl makes 260 revoulation in 1 minutes
- wheel will make % revolution in 1 secons

That is, 6 revoultin inl second

Mo,
In one revolutin the wheel makes 3607 angle

In 6 revoulution the wheel will make 260”6 angles
=2160°

19 = L]c
180

2160 r
O
180
= 12w

2159“:[
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(i) Wehave,

24 = length of pendulum = 75 cm
=075 m

A& = arc A8 = 10 cm
=0.1m

Also,
arc
radius

(=
- E_n.l_[_E_J
0.75 L15

=

~0

8= i radian
15

(1)

O =75 cm=075m

AB = 15 cms= 0,15 m

From {A)

_D.lE_ 1

8 = radian
0,85 .6

1 ;
B == radian
c

iy

OAd =75 cm=075m

A8 =21cm =021 m

Frorm {Aj
0.21 7

o758 25

7 ;
& =— radian
25
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Q15

We have,
04 =08 =radius of circle=30om =03 m
A =chord A8 =30ecm =0.3m
Arc A8 = AB = !(say)

Mo w,
AACE 15 equilateral tnangle as 04 = 08 = A8 = 30 om
£A0B = 60° =% radian,

arc

o radius

= i = L
3 0.3

) | = E—a-sr = 0.1 m

Qle

we have,
In arcular track,
CA=08=r=150m
£A08 =8 = angle the train tums in 10 seconds

Speed of train = 66 km/hr
= 66 =1000
60 =60

mf=ec

L3l m fsac
sl

110 1100

Traim will travel in 10 sec = x10= 5 T

1100
arc A8 = T m

Thus,
4o @rc 1100 _ 13 60 ‘\O

" radius 6 150n“ﬁrﬂdian
ragius kS @

The train will turn by [%]; angle in 10 sec. &% Q
x0
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Let, r be the diszarce, at which zoin in placec, So that it complete y conceals the
ull rmuouon,

Let, £ be the aye of the ohserver,

P,
a1y
&:31'=[__J [ 5n'=1“]
=]}
[ 14
= -'4_1 W _._” LA ]_n - _r.-.
60 180 1837
alsa,
A8 - wcAB =2 cm = 0.02 m.
MNow,
by 8= ¢
radius
3l (IR EFS
G0 =180 r
002 x60 =180
= T i i g e i el
dir
-2.217m [ i %
Thus,
The con should be pleced &t & distance of 2,217 m fram the eye,
Q18

Le:, £ be tre eye of the obse-wver and 3 be the sum.

M e,
LACE =8=32"
n'ag]’
&0
-(aahs:_]c o
60 180
arc 0 N O
H'radl'us b \\
= E‘x;= i ] @ @O
60 180 0o x10° (O K
- Agzglxlﬁlﬁx&i?xn’ ﬂ Q

E0 100 @
= B.474074 x10% km 6\' %'
= 54 74U7.4 km Q &Q
Distance of sun i1s 847407 .4 km, ,\‘\\O @@
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Let, C, & T, are two cirdes with same arc length /.
Thatis 48 =D =

Let, & adn &, ars two angles subtended by arc AR and 0 an
respechve orcles.

Lat, Od=08=r [radivs of ;]
and Q00 =04=Ff [radius of o5 ]
Also,
B507°
& =650 = [0
18D
(=
and & =110%= (1107
180
We know
2 arc
radius
For:C,
A8
- O ol
1 ©
!
= Bl
1 r
% ey 0
&
For Gy
o
2=
=4 4. l:l
il
!
= a-L 1)
2
Frorm i} and (i)
i 110s
roe % 180, 22
R- 7T "® 65z 13
&, 180
rrR=22:113
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Q20

Let, A8 =arc A8 =22 cm
04 =08 =r =100 cm

Let & bet the angle subtanded by arc A8 at centre O,

arc

by & =
¥ radius

22 .
= 8 = —— radian
100

] 1]
g = Exlaﬂ 1 radian = @
100 T Eri

=12.6"
= 12%¢! P¢&=5w]

oa=12%g"
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